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I Semester M.A. Degree Examination, December 2018 
(CBCS) 

economics  
Quantitative Methods in Economic Analysis – I 

Time : 3 Hours	 Max. Marks : 70    

          Instructions :	1)	Answer all the three Parts.
	 2)	Part – A : Answer each question not exceeding 1/2 pages.
	 3)	Part – B : Answer each question not exceeding 4 pages.
	 4)	Part – C : Answer each question not exceeding 6 pages. 

PART – A

»ÝWÜ – G

1.	 Define/Answer any ten of the following : 	 (10�2=20)
	 D PæÙÜX®ÜÊÜâWÜÙÜÈÉ  ¿ÞÊÜâ¨Ý¨ÜÃÜã ÖÜñÜá¤ ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ/ÊÝÂTÝÂ¯Ô : 

	 a)	 Define function.
		  ¹íŸPÜÊÜ®Üá° ÊÝÂTÝÂ¯Ô. 

	 b)	 Define demand. 
		  ¸æàwPæ¿á®Üá°  ÊÝÂTÝÂ¯Ô. 

	 c)	 What is non-linear function ? 
		  ÊÜPÜÅÃæàTÝ ¹íŸPÜWÜÙæí¨ÜÃæà®Üá ? 

	 d)	 What is Matrix ? 
		  ÊÜÞñÜêPæWÜÙæí¨ÜÃæà®Üá ? 

	 e)	 Define Market Equilibrium. 
		  ÊÜÞÃÜáPÜpær  ÓÜÊÜáñæãàÆ®ÜÊÜ®Üá°  ÊÝÂTÝÂ¯Ô. 

	 f)	 Define National Income.
		  ÃÝÑóà¿á B¨Ý¿áÊÜ®Üá°  ÊÝÂTÝÂ¯Ô.  

	 g)	 Define calculus. 
		  PÜÆ®Ü ÍÝÓÜ÷ÊÜ®Üá°  ÊÝÂTÝÂ¯Ô. 
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	 h)	 What is production function ? 
		  EñÝ³¨Ü®Ý ¹íŸPÜ Gí¨ÜÃæà®Üá ? 

	 i)	 What is product transformation curve ?  
		  EñÝ³¨ÜPÝ Ô§ñÜÂíñÜÃÜ ÃæàTæ Gí¨ÜÃæà®Üá ?  

	 j)	 What is limit ? 
		  ÈËáp… Gí¨ÜÃæà®Üá ? 

	 k)	 Define consumer’s surplus. 
		  WÝÅÖÜPÜÃÜ A—PÜÂñæ¿á®Üá°  ÊÝÂTÝ¯Ô. 

	 l)	 What do you mean by partial differentiation. 
		  »ÝWÜÍÜ@ AÊÜPÜÆ®Üñæ Gí¨ÜÃæà®Üá ? 

PART – B
»ÝWÜ & ¹

Answer any five of the following : 	 (5�6=30)
D PæÙÜX®ÜÊÜâWÜÙÜÈÉ  ¿ÞÊÜâ¨Ý¨ÜÃÜã I¨Üá ±ÜÅÍæ°WÜÚWæ EñÜ¤ÄÔ :  

2.	 What do you mean by Functional Relationships ?  Explain with economic 
examples.

	 ¹í¸ÝñÜ¾PÜ ÓÜíŸí«Ü Gí¨ÜÃæà®Üá ? A¥ÜìÍÝÓÜ÷¨Ü E¨ÝÖÜÃÜOæWÜÙæãí©Wæ ËÊÜÄÔ.

3.	 The Pareto’s law of distribution of income for a community is given by 

	 N
X

=
×8 109

3
2

. Find the number of people whose income is Rs. 2,500/-. Calculate 

	 the number of people whose income is in between Rs. 2,500 – Rs. 4,900/-.

	 Jí¨Üá ¨æàÍÜ¨Ü B¨Ý¿á ÖÜíbPæ ±ÝÂÃæãàoÃÜ ¯¿áÊÜá¨Üíñæ N
X

=
×8 109

3
2	   i)	GÐÜár  g®ÜÃÜ B¨Ý¿áÊÜâ ÃÜã. Rs. 2,500/-

	  ii)	GÐÜár  g®ÜÃÜ B¨Ý¿áÊÜâ ÃÜã.2,500 & ÃÜã. 4,900/- ÃÜ JÙÜWæ C¨æ ? PÜívÜá×wÀáÄ. 

4.	 What do you mean by determinant of a matrix ? State their properties.
	 ÊÜÞñÜêPæWÜÙÜ ¯«ÝìÃÜPÜWÜÙÜá Gí¨ÜÃæà®Üá ? AÊÜâWÜÙÜ WÜá|ÆPÜÒ|WÜÙÜ®Üá° £ÚÔ. 

5.	 Write a note on ‘Input-Output’ model. 
	 "A«Ý®Ü&Ë«Ý®Ü ' ÊÜÞ¨ÜÄ¿á PÜáÄñÜá q±Ü³~ ŸÃæÀáÄ. 
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6.	 What are the important rules of differentiation ? 
	 AÊÜPÜÈ¯à¿áñæ¿á ÊÜááSÂ ¯¿áÊÜáWÜÙÜá ¿ÞÊÜâÊÜâ ? 

7.	 What is Maxima-Minima ? Find Maxima Minima of function y = 2x3 – 6x. 
	 WÜÄÐÜuñæ &PÜ¯ÐÜuñæ Gí¨ÜÃæà®Üá ? D ¹íŸPÜPæR  y = 2x3 – 6x WÜÄÐÜuñæ&PÜ¯ÐÜuñæ¿á®Üá°  PÜívÜá×wÀáÄ. 

8.	 Given the total cost function C = 50 – 2Q + 7Q2+ Q3, find the marginal cost. 
	 Joár  ÊæaÜc  ¹íŸPÜ C = 50 – 2Q + 7Q2+ Q3, B¨ÜÃæ, ÔàÊÜÞíñÜ ÊæaÜcÊÜ®Üá°  PÜívÜá×wÀáÄ. 

9.	 Given the demand function P = 8 – 2x and supply function P = 2 + x find the 
consumer’s surplus and producers surplus. 

	 ¸æàwPæ ¹íŸPÜ P = 8 – 2x ÖÝWÜã ¯àwPæ ¹íŸPÜ P = 2 + x B¨ÝWÜ WÝÅÖÜPÜÃÜ B—PÜÂñæ ÊÜáñÜá¤ 

EñÝ³¨ÜPÜÃÜ A—PÜÂñæ¿á®Üá° PÜívÜá×wÀáÄ. 

PART – C
»ÝWÜ & Ô

Answer any two of the following :	 (10�2=20)
D PæÙÜX®ÜÊÜâWÜÙÜÈÉ  ¿ÞÊÜâ¨Ý¨ÜÃÜã GÃÜvÜ®Üá° EñÜ¤ÄÔ :  

10.	 Examine the application of Quantitative Methods in economic analysis. 
	 B¦ìPÜ ËÍæÉàÐÜOæ¿áÈÉ  ±ÜÄÊÜÞOÝñÜ¾PÜ Ë«Ý®ÜWÜÙÜ A®ÜÌ¿áÊÜ®Üá°  ±ÜÄàQÒÔ. 

11.	 Given the demand and supply function, D = 200 – 2P and S = 100 + 3P, obtain 
equilibrium price and quantities. when a tax of Rs. 5/- unit is imposed, find new 
equilibrium price and quantities. 

	 ¸æàwPæ ÊÜáñÜá¤ ¯àwPæ  ¹íŸPÜWÜÙÜá, D = 200 – 2P ÊÜáñÜá¤ S = 100 + 3P B¨ÝWÜ, ÓÜÊÜáñæãàÆ®Ü 

¸æÇæ ÊÜáñÜá¤ ±ÜÅÊÜÞ|WÜÙÜ®Üá° PÜívÜá×wÀáÄ. ±ÜÅ£à ÓÜÃÜQ®Ü ÊæáàÇæ ÃÜã. 5.0 ñæÄWæ Ë—Ô¨ÝWÜ, Ÿ¨ÜÇÝ¨Ü 

ÓÜÊÜáñæãàÆ®Ü ¸æÇæ ÊÜáñÜá¤ ±ÜÅÊÜÞ|WÜÙÜ®Üá°  PÜívÜá×wÀáÄ. 

12.	 Explain the ten important rules of integration. 
	 CíqWæÅàÐÜ¯°®Ü ÖÜñÜá¤  ±ÜÅÊÜááS ¯¿áÊÜáWÜÙÜ®Üá°  ËÊÜÄÔ.

13.	 Solve the following linear equations using Crammer’s rule. 
	 D PæÙÜX®Ü ÓÜËáàPÜÃÜ|WÜÙÜ®Üá°  PÝÅÊÜáÃ…Õ  ¯¿áÊÜá¨Üíñæ ¹wÔ : 
	 x + y – 2 = – 2 
	 x – 2y + 2 = 3 
	 2x – y – 32 = – 1.

________________


